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dl.31-3-2013+1L A% €lsv Yelisd sl dvid 3edls Hig 3+l
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2010 2011 2012 2013
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vd€l 1,75,000 1,95,000  3,05,000 -
wilel ud 5,000 6,000 4,500 -
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o] wElHl 207+ qrIR]l YUl 8. AR Yd v vidledrd . 9y
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ENGLISH VERSION

Instruction : Write answer of all questions in main answer book.
1 M.C.Q. 20
(1) The Revenue Account of Electricity Company is like

@

)

(4)

()

(A) Receipts and Payments Account
(B) Profit and Loss Account
(C) Income and Expenditure Account

(D) Cash Account

Where "Call received in advance” is shown in Double Account
System ?

(A) In Net Revenue Account

(B) In Capital Income and Expenditure Account

(C) In General Balance Sheet

(D) None of above

Under which heading "Depreciation on mains" is shown in

Revenue Alc ?

(A) Generation cost
(B) Depreciation Exp.
(Cy Distribution cost
(D) Special charges

The cost of giving electricity connection to consumers is

considered as :

(A) Generation cost
(B) Capital Expense
(C) General Expense
(D)  Deferred Expense

Out of the following on which value, the amount of brokerage

is generally calculated when selling the securities ?
(A) On Face Value

(B) On Market Value

(C) On Transaction value

(D) On average value of face value and transaction value
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)

8

)

(10)

(1D

Interest on securities is calculated on
(A) Its market price

(B) TIts purchase price

(C) TIts face value

(D) None of these

Investment Accounts are kept

(A) Only by brokers

(B) Only by companies

(Cy By any person who is an investor
(D) By stock exchange only

Securities paying interest on fixed date is
(A) Equity shares of company

(B) Preference shares of company

(C) Government securities

(D) Shares of foreign company

On 1.7.2013 Shri Panchalal purchased 10% cum-interest
debenture of Rs. 1,50,000 for Rs. 1,60,000. He paid brokerage
at 1% on purchase price. Interest dates are 30th June and
31st December.

The capital value of debentures purchased would be

(&) Rs. 1,61,600

(B) Rs. 1,51,500
() Rs. 1,67,500
(D) Rs. 1,68,600
The average clause in a loss of profit policy protects the

(A) Insurer

(B) Workers
(C) Insured

@) All

Fire insurance gives protection to
(A) Tangible assets
(B) Intangible assets

(C) Invisible assets
(D) Employees
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(12) Stock of goods destroyed by fire Rs. 20,000; stock of goods
salvaged Rs. 5,000; There is an average clause of Rs. 20,000

policy, find out amount of claim
(A) Rs. 16,000
(B) Rs. 20,000
(C) Rs. 25,000

(D) Rs. 15,000
(13) Opening stock Rs. 50,000; purchase Rs. 2,50,000; Sales Rs.
3,00,000; goods salvaged Rs. 20,000 and Gross Profit is 50%
on cost, then the cost of goods burnt by fire is
(A) Rs. 80,000
(B) Rs. 1,20,000
(C) Rs. 1,00,000
(D) Rs. 1,80,000
(14) For the year 2011, 2012 and 2013 if the rate of gross profit
were 15%, 20% and 18% respectively, then what will be the
rate of gross profit for the year 2014 ?
(A) 15%
(B) 17.67%
(C) 18%
(D) 18.50%
(15) Which of the following is not a function of operating leverage
in a firm ?
(A) The amount of fixed cost
(B) The volume of sales
(C) The rate of income tax
(D) Earning before interest and tax
(16) Financial leverage and combined leverage of a company is
1.2 and 3.6 respectively. Operating leverage would be
(A) 4.32
(B) 2.4
(C) 3.33
(D) 3.00
(17) Is dividend paid in Cash ?
(A) Yes
(B) Cash or bonus
(©) No
(D) Can also be paid in form of things/articles
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(18) Is it mandatory to pay dividend every year to their
shareholders by companies ?
(A) Yes
(B) No
(C) It is mandatory as per company act 1956
(D) It is compulsory as per guidelines by SEBL
(19) Who monitor and note that dividend policy does not affect
for determining value of share ?
(A) Gordon's
(B) Walter's
(C) Miller and Modigliani
(D) Solomon Ezra
(20) In which year M.M. Theories (Miller and Modigliani Theories)
was presented ?

(A) 1929

B) 1947

(C) 1931

O 1961

2 The trial balance of Reliance Electric Co. Ltd. as on 15
31.3.2014 is as under :
Debit Rs. | Credit Rs.
10% Investment 50,000 | Pref. share Capital 50,000
Land and Building 70,000 | Equity share capital 1,650,000
Plant 90,000 | 10% Debentures 60,000
Mains 30,000 | Share Premium 24,000
Transformers 50,000 | Creditors 10,000
Meters 15,000 | Sale of Electricity 90,000
Furniture 12,000 | Contingency Reserve 16,000
Debtors 16,000 | Repairing Reserve 5,000
Admn. Expenses 25,000 | Depreciation Fund 30,000
Electricity - Meter Rent 10,000
Generation charges 25,000 | Interest on Investment 5,000
Electricity - Net Revenue Afc.
Distribution charges 6,000 | (1.4.2013) 10,000
Rent and Taxes 5,000
Salary 4,000
Debenture Interest 3,000
Repairing Expenses 2,000
Insurance premium 4,000
Legal charges 2,000
Material on hand 20,000
Cash on hand 21,000
Interim Dividend 10,000
4,60,000 460,000
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Additional Information :
(1) Following increase took place in Capital-Assets during

the year :

- Equity share capital .............. Rs. 50,000

— Mains ..o, Rs. 10,000

— Transformers ......cccovvvveeeveiinnnnnn, Rs. 15,000

— Land and Building.................. Rs. 30,000

— Plant ..o, Rs. 32,000

(2) Calculate depreciation at 5% on opening balance of

assets.

(3) Provide Rs. 5,000 for repairing reserve and Rs. 4,000
for Contingency Reserve.
Prepare final accounts as per Double Account System.
OR
2 The following is the Balance Sheet of Torrent Power Co. 15
as on 31.3.2014.

Liabilities Es. | Assets Es.

Share Capital: Liand and Building:

7,600 equity shares (Cost Rs. 4,00,000) 3,560,000

each of Rs. 100 Less: Depreciation 10,000 3,40,000

fully paid 7,650,000 | Plant and Machinery:

Share premium 75,000 | (Cost Rs. 7,00,000)  6,00,000

Resgerve Fund 4,00,000 | Less: Depreciation 25,000 5,75,000

Profit and Loss Mains :

Appro. Alc. 1,265,000 | (Cost Rs. 4,00,000)  3,25,000

6% Debentures 5,00,000 | Less Depreciation 25,000 3,00,000

Bank Loan 1,75,000 | Transformers:

Creditors 35,000 | (Cost Rs. 5,00,000)  4,00,000

Provident Fund 15,000 | Less: Depreciation 40,000 3,680,000
Investments 3,25,000
Stock 60,000
Debtors 65,000
Cagh and Bank Bal. 50,000

20,75,000 20,75,000

Additional Information :
(1) Addition in assets during the year were as under :

- Plant and Machinery .................... Rs. 50,000
— Mains ... Rs. 25,000
— Transformers ... Rs. 20,000

(2) On 1.10.2013 there was an issue of 2,500 shares at a premium
of 10% which was fully subsecribed.
From the above information, prepare the receipt and
expenditure on Capital Account and General Balance Sheet
under the Double Account System.
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3 Brinda Investment Ltd. had 12% Narmada Development 15
Bonds having the face value of Rs. 50,000 and cost value
of Rs. 47,500 as on 1.4.2013. Interest is paid on 30th June
and 31st December.
Following transactions of 12% Narmada Development Bonds
were incurred during the year ending on 31.3.2014.

Date Face Value Price Remarks

Rs. Rs.
1.8.2013 50,000 96 Cum-interest purchase
1.9.2013 30,000 95 Ex-interest sale
1.12.2013 40,000 97 Ex-interest purchase
1.3.2014 25,000 101 Cum-interest sale

Brokerage is calculated @ 1% on market value in each
transactions of purchase and sale. Stock is valued as per First
in First Out (FIFO) method.
Prepare 12% Narmada Development Bonds Ale for the year
ending on 31.4.2014.
OR

3 On 1.4.2013 Miss Zarana held 15% Debenture of 15
Shivani Ltd. face value of which Rs. 87,500 and Book Value
is Rs. 91,000. Interest on this debenture is paid on 30th June
an 31st December.
Transactions for the year ended on 31.3.2014 were as under :

Date Face Value Rate Remarks

Rs. Rs.
1.5.2013 40,000 125 Cum-interest sale
1.7.2013 40,000 110 Cum-interest purchase
1.9.2013 25,000 120 Ex-interest-sale
1.12.2013 20,000 115 Ex-interest purchase

Brokerage is paid @ 1% on every transaction of purchase and sale.
Stock wvaluation is done on FIFO method.

Prepare 15% debenture Afc. of Shivani Ltd. for the year ended
on 31.3.2014 in the books of Miss. Zarana.

4 Fire took place in godown of Shri Sikandar on 10
21.11.2013; but books of accounts were salvaged and the
following information was obtained :

Particulars Rs.
1.  Stock at cost as on 31.3.2012 ... ... 25,000
2. Stock at cost as on 31.3.2013 ... 32,000
3. Purchase from 1.4.2012 to 31.3.2013 ..................... 1,33,600
4. Sales from 1.4.212 to 31.3.2013 ........................... 1,80,000
5. Purchase from 1.4.2013 to upto the date of fire....65,000
6. Sales from 1.4.2013 to upto the date of fire ........ 1,20,000
7.  Value of salvaged goods .......coooovviiiiiiiiii 1,500
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While valuing stock as on 31.3.2013 a sum of Rs. 600 was
written off from certain stock which was poorly selling, having
cost of Rs. 3,600. Some portion of these goods having cost
of Rs. 2,200 were sold out with a loss of Rs. 200 in April 2013.
Remaining stock is valued at cost price. Subject to above
exception rate of gross profit had remained uniform
throughout.
Prepare statement of fire claim for loss of goods stock.
OR
Fire occurred in the factory of Mansi Foods on
31.08.2013. All goods destroyed. They have a policy of
Rs. 90,000 for fire claim. From the following information
calculate the amount of fire claim.

Particulars Year Year Year Year
2010 2011 2012 2013

Opening stock 12,500 20,000 32,500 40,000

Sales 2,560,000 3,25,000 3,860,000 -

Purchase 1,75,000 1,95,000 3,05,000

Purchase return 5,000 6,000 4,500 -

Saleg return 3,500 1,500 2,600 -

In the year 2013 comparatively to year 2012 sales by 25%
and purchase by 20% increase. There is no sales return and
purchase return. The gross profit rate will be decided by
average gross profit rate of last three years.

Capital structure of Pradip Ltd. is as under :

Equity share capital (each of Rs. 10)................. Rs. 2,00,000
10% Debentures (each of Rs. 100)...................... Rs. 2,00,000
a8 Rs. 6,00,000
Variable operating expenses ............cccccccccvvveveeen... Rs. 4,50,000
Fixed Operating expenses ...........cccccoooieiiiiiiiiiiene... Rs. 50,000
Rate of tax ... 40%

From the above information, calculate degree of operating
leverage, financial leverage and combined leverage.
OR
Write short notes on : (any two)
(1) Walter's Dividend Model
(2) Stable Dividend Policy
(3) Difference between Financial leverage and Operating
Leverage

(4) HEarning Per Share (EPS)
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